Pounds to Kilograms

Name: Class:

Fill in the correct numbers.
Take 1 pound = 0.45 kilogram and round your answers off to the nearest hundredth.

4 pounds = kg 0.7 pounds = kg
10 pounds = kg 1.7 pounds = kg
16 pounds = kg 1.01 pounds = kg

0.2 pounds = kg 25 pounds = kg
1.3 pounds = kg 0.05 pounds = kg
0.9 pounds = kg 2.16 pounds = kg

If 1 pound = 0.45 kg, 1 kg equals 1/0.45 = 2.2222 pounds!

50kg = pounds 25kg = pounds
100 kg = pounds 12.8kg = pounds
300 kg = pounds 30kg = pounds
150 kg = pounds 133kg = pounds
160 kg = pounds 21 kg = pounds
310 kg = pounds 140 kg = pounds
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Answers

Fill in the correct numbers.
Take 1 pound = 0.45 kilogram and round your answers off to the nearest hundredth.

4pounds = | 1.8 | kg 0.7 pounds = | 0.32 | kg
10 pounds = | 4.5 | kg 1.7 pounds = | 0.77 | kg
16 pounds = | 7.2 | kg 1.01 pounds = | 0.45 | kg
0.2 pounds = | 0.09 | kg 25pounds = | 11.25 | kg
1.3 pounds = | 0.59 | kg 0.05 pounds = | 0.02 | kg
0.9 pounds = | 041 | kg 2.16 pounds = | 0.97 | kg

If 1 pound = 0.45 kg, 1 kg equals 1/0.45 = 2.2222 pounds!

50kg = | 111.11| pounds 25kg = | 5.56 | pounds
100 kg = | 222.22| pounds 12.8 kg = | 28.44 | pounds
300 kg = | 666.67| pounds 30kg = | 66.67 | pounds
150 kg = | 333.33| pounds 13.3kg = | 29.56 | pounds
160 kg = | 355.56| pounds 21 kg = | 46.67 | pounds
310 kg = | 688.89| pounds 140kg = | 311.11| pounds
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